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234 HOMOLOGY AND COHOMOLOGY THEORIES
Ly thuyét dong diéu va déi dong diéu checked 27/2
of (0, isT)-modules, where A->E is an inclusion map. If now the sequence

describes a second extension, then the two are said to be equivalent if there
exists a (0, if )-isomorphism E « E* such that the diagram

IS commutative.

cta(G, K)mo-dun, trong d6 A — Ela mot anh xa co. Néu bay gio day
Dsd=E*= B0

mob ta mot mé rong thir hai, thi 2 mé rong duoc goi 13 twong dwong néu ton
tai mot(G, K)-dang cau E ~ E*sao cho so db

Inclusion map: maot s tai liéu dich 1a "anh xa nhing chim"

N
N4/

E*

A B

giao hoan.

One particular extension of A by B can be obtained by taking for E the direct
sum of A and B ; and this then determines a special class of equivalent
extensions all of whose members will be said to split. Clearly the extension
(10.9.7) splits if and only if A is a direct summand of E considered as (G,
if)-module.

Mot mé rong dic biét cua A boi B c6 thé thu duoc bang cach cho E 1a tong
tryc tiép cta A va B, va nhu vay diéu ndy xac dinh mot 16p dic biét cuacac
ma rong tuong duong ma tat ca cac thanh phan cua no sé chia tach .R6 rang
ma& rong(10.9.7) chia tach khi va chi khi 4 1a mot hang tir truc tiép cua
Eduge xem nhu la (G, K)-m06-dun.

We shall now consider the problem of finding a convenient model for the
classes of equivalent extensions of A by B. As a first step towards bringing



in the cohomology theory of G, observe that if C and D are representation
modules, then HornK(C,D) becomes a (0, iQ-module if we define cru by

(cru) ¢ = <x{u((T~1c)} (ceC). (10.9.8)

Bay gio chling ta s& xét bai toan tim kiém mot mé hinh thuan tién cho céc
I6p ctia cac mo rong tuong duong cia A qua B. Vi tu cach 13 mot budc dau
tién hudng toi viec dua ra ly thuyét doi dong diéu cua G, thay rang néu C va
D 1a cac md-dun dai dién, thi Homy (C, D) tr& thanh mot(G, K)-md-dun néu
ching ta dinh nghia ou bai

(ou)e = ofu{occ)} (ceC). (10.9.8)

| 0> Homg (B, 4)»Homg (B, E)—~Homg (B, B)~0 (10.9.9) |




| A : [Homg (B, B)]% -+ HY(, Homg (B, 4)}.

‘ Alig) € VG, Homg (B, A)}.
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O0-d->EFE —-B-0

O0sdaE>B20




HYG, Homg (B, A)}.

|n-r_a,+ $(b)) = oa+[o¢](ob) = ca+[od —¢](ob) + ¢(ab). |

oa+ [od—¢] (o) + ¢'(ab)
= g+ [od" — ' (oh) + §'(oh) = ola+ H'(B)).




|::rh._—hw+-ﬁl, =0 (o, reld), (10.9.10)

‘ ola,b) = (ca+h, (oh), ob). ‘

oir(a,b)} = e{ra+h (rh), b} = {ora +[oh, ] (orh)+ h, (orh), orh}
= {ora+h,  (orh), oth} = (o7) (a2, ).



(0p—@)b = o(P(a~1b)) — h(b) = o(0,071b) — $(b)
= (ho'(b)s b) — (O’ b) = (ha(b)a 0)"



HY{G, Homyg (B, A)} = X (say) = 0,




oca—a = —qf(o)

af(r,p)—f(or,p)+ f(o,7p)—f(o, 7) = 0. (10.10.1)



(10.10.2)

flo,7) = 0p(1) - $(07) + §(0)
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(aya,)” = afag, (a°)” = a™, (10.10.3)
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ag , = ";" 27 (o, T,pe@), (10.10.4)

o,Tp




(10.10.5)
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i =1 =1 -1 -1
meanm, ! = aman;lal = w an,!,

a’° =m.an;t (acd, oe(), (10.10.6)
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(m,m,) = o7 = x(..). |

Ty

Ty = Qg +Myrs

(7,7,) My = Q¢ +Mgr M, = Qo 1 Air, p M7 ps

N = -1
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ao.’l = 114. - a'l’a. (O'G G). (10-1007)

(O.’., 0') (ﬂs T) = (‘xﬁcaa,ﬂ 0'7)3

[(«, o) (ﬁ, 7)1y, p) = (“ﬁ”)’”%,r%f, p’ OTP):
(@, ) [(B, 7) (v, p)] = (2f”y°707, ) Q5,10 TTP)




S |
aa,raa'f,p e a’r,paa,fp'.

(10.10.7), (a,0)e = (a,0) = e(a,0q),

((L, l) (a_la 1) = €,
]

(Gf-, O") (lAs 0'—1) ;I (ﬁ: l)l(l.ds o) (x,0) = (7’ 1).

(@,0)(Lg, o) (f7,1) = e = (v, 1) (1,07 (@, 0).

(1 0) (@ ) (14 0)" = (@,0) (15,0)" = (a7, 1) (14, 0) (14, )
= (a7, 1},



(14, 0) (g, 7) = (@4, 5, 07) = (@,,, 1) (1 4, 07),

| d(a) =a (allacd) and y¢ =yx. (10.10.8)



@.(m) = anat  (mwell);

|¢(75) = a(m,) = aoum, = am;

| $(n,) = a,7, (oeG). (10.10.9) ‘




|¢(Nd'ﬂf} = ?5(779-) @5{“1') =, M, q, T, = a’aagﬂaﬂr*

| &' (amr,) = agam, (ate:i}.‘





